TUBBXLF RS SFTTEE
KB IE B ®KAB 4888 5HB13H 62104 728H 8868 98108 10878 118118 12898 18148 2358 3894 R RIE 13
7K 2 (C) 93 156 193 20.8 24.2 24.8 219 153 10.1 76 79 75 24.8 75 154
— i B (18/mL) 0 0 0 0 0 0 0 0 0 0 0 0 0
AN i N2 N N AR AR AR N1 N N AR AR N2 N
ARIODARVZ OIS MW (me/L| <O0003 <00003 <00003 <00003 <00003 <00003 <00003 <00003 <00003 <00003 <00003 <00003| <00003
XK B R U Z O & W mg/L < 0.00005 < 0.00005 < 000005 < 0.00005|< 0.00005
LU YR ZOIWS ™MW MmegL| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
w R U 2 0 i & W (mg/L < 0.001 <0.001 < 0.001 <0001| <0001
E 2 & O 2 O It 8 MW mg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
AN O 2 O A it & %W (meg/U| <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005| <0005
H B B B T & (meg/L| <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004| <0004
YPIEMAAYROELY P Y (mg/L) < 0.001 <0.001 < 0.001 <0001| <0001
WREEZEERUOBHEBEZE R (mg/L 0.12 0.06 0.10 025 023 0.32 0.29 045 0.34 025 0.32 025 045 0.06 025
v ZE RV Z OIS W Mg <005 <005 <005 <005 <005 <005 <005 <005 <005 <005 <005 <005/ <005
" D HERUVCZ 014 SE W Mme/L <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002| <002
rg iz} 1t 7 % (me/L) | <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <0.0002| <0.0002
1, 4 — Y A F Y Y (mg/L| <0001 <0001 <0001, <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
i;\_;\’_ %—égmgéggéﬁzzj (mg/L)| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
Yy -2 O O % & Y (mg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
> 5> 2 00IFL Y meL| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
U 2 00 I F U Y melL| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001 <0001| <0001
A Y, © > (mg/L)| <0001 <0001 <0001/ <0001 <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001| <0001
i = B (meg/L) <005 005 007 0.06 0.09 0.09 012 0.06 005 <005 <005 <005 012 <005 <005
K5 0 0 BE B (mg/L)| <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002| <0002
- 2 O O w4 (me/L) 0003 0006/ 0008 0012 0018 0003 0006 0005 0004 0008 0009 0008 0018 0003 0008
v D 0 0 B B (mg/L)| <0002 0004 0005 0007 0011 <0002 0003 0003 0003 0007 0008 0010 0011 <0002 0005
2Y J O Y 0O0OX% Y Mmegl| <0001 <0001 0.001 0.001 0.001 0002 0003 0001 0001| <0001 <0001 <0001 0003 <0001 <0001
£ = B (meg/L) < 0.001 <0.001 < 0.001 <0001| <0001
Fae U N DO X 8 Y mel 0005 0009 0013 0018 0025 0007 0014 0009 0008 0011 0012 0011 0025 0005 0012
=k YU £ 0O 0O & ® (mel| <0005 0004 0005 0008 0014 <0005 0003 0003 0004 0007 0008 0008 0014 <0005 0005
SO EY S O00XS Y mel 0002 0003 0004 0005 0006 0002 0005 0003 0003 0003/ 0003  0003| 0006 0002 0004
B> 0 £ N U A (mg/L| <0001 <0001, <0001 <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001 <0001| <0001
R oW A P I T B R (mg/L < 0.001 <0.001 < 0.001 <0001| <0001
B RO Z D01 S W meg/ <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002| <002
PILEZOARUZODIEEW mg/L 0.01 0.02 002 002 002 002 002 0.01 0.01 <001 <001 0.01 002 <001 0.01
% R O % o it & %W (mg/L <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002| <002
W R O 2 O it & W (meg/L <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002| <002
T RUDARVOZODOIESEW (mg/L 106 85 79 73 70 73 74 6.3 6.5 83 87 87 106 6.3 79
VYA YRUOZOIE S W mMme/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001 <0001| <0001
1= (T « ) > (mg/L) 149 123 120 104 06 97 105 9.1 95 125 128 135 149 9.1 11.4
AIVYDI L, RIRIYDAZE(BE) (mg/L) 300 269 292 295 296 335 32.1 283 305 31.8 292 277 335 26.9 299
2 1 5% 2 " (me/L) 72 82 78 81 82 72 78
= 4 7 v KR @ & % A& (ng/L) <0.02 <002 <0.02 <002 <0.02
Y, T F 2 = > (ug/L)| <0001 <0001 <0001, <0001 0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 0001 <0001 <0001
2 —XFIAYRILRA — I (ug/L) 0001 <0001 0001/ <0001 0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 0001 <0001 <0001
¥ 4 F Y R @ B M B (mg/L <0.005 <0005 <0.005 <0005| <0005
W T J — ) % (mg/L < 0.0005 < 0.0005 < 0.0005 <00005| <0.0005
B (2B MK ETOC DE) (mg/L) 03 04 05 06 07 0.2 04 05 05 05 05 06 07 0.2 05
P H & 76 76 76 76 78 78 77 77 76 75 75 76 78 75 76
173 (i&%8) E83L ZEBBL EBBL| EBERL Z2EBRL EERL EBERL EBRL ERERkL ERlL EBkL EBRU
= S (@8 | B:ESL BERZL 82850 BEEL BEAL  BEEL  BERL B¥AL  REBL BERL 885U BBRUL
=} E (B <1 <1 <A <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
B E (B <01 <01 <01 <01 <01 <01 <01 <01 <01 <01 <01 <01 <01
PYFEYRUVIZODOIEEW mg/L| <O0005 <00005 <00005 <00005 <00005 <00005 <00005 <00005 <00005 <00005 <00005 <00005| <00005
DS Y ROZ OIS W Mme/L]| <O0001 <00001 <00001 <00001 <00001 <00001 <00001 <00001 <00001 <00001 <00001 <00001| <0.0001
Ty LRV ZOISE W me/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001 <0001| <0001
1, 2 - Y2 00I%F Y meg/lL] <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002| <0.0002
x ~ U T > (mg/L)| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
ooy (2—TFLAEYL) (me/l) <0005 <0.005 <0005
Cm 5 S B (me/L) <005 <005 <005
2 i 1t i = (mg/L) <005 <005 <005
By soao?”+® k= kU megl < 0.001 <0.001 < 0.001 <0001| <0001
=m Kk 2 O S5 — )b (mg/L 0.002 <0.001 0.001 0003| 0003 <0001 0.002
o B 2 i = (mg/L) 0.70 065 0.80 0.75 0.75 0.75 075 0.60 0.60 0.60 0.60 065 0.80 0.60 068
wo Bt by B (mg/L) 1.1 15 15 1.1 1.3
gl1. 1. 1—-FU200IFY (mg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
g X} FN -t TJFILI —FI)U (mg/Ll| <0001 <0001 <0001, <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
2 % ®# B (T O N ) 6 8 8 6 7
BEM (SY 5T U PEHR) -16 -12 17 -19 -12 -19 -16
e I N = # (1&@/mL) 4 1 4 1 3
1, 1 —Y2O0O0IFL Y mg/l| <0001 <0001 <0001, <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001




